## **YEARLY GAME BOAT TROPHIES**

THE 4 CRITERIA IS THE CAPTURE OF A GAME FISH, SHARK, EAGLE RAY AND THE TAGGING OF A GAME FISH ALL MOST MERITORIOUS TROPHIES FOR FISH, SHARK AND RAYS MUST BE WEIGHED ALL HEAVIEST & CAPTURE TROPHIES FOR FISH, SHARKS AND RAYS MUST BE WEIGHED ALL M/M, HEAVIEST AND CAPTURE TROPHIES MUST BE CLAIMED AS A CAPTURE

## **CURRENT STANDINGS AS AT 5/3/24**

	CURRENT STANDINGS AS AT 5/3/24									
	GAME BOAT OVER 8.0 METRE									
CHAMPION BOAT - {MUST HAVE THE 4 CRITERIA}										
BOAT NAME	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS		TOTAL POINTS					
		ME BOAT OVE								
	1	GLER - MALE - (MU		CRITERIA}						
ANGLER	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS		TOTAL POINTS					
	G/	ME ROAT OVE	R & O METRE							
	GAME BOAT OVER 8.0 METRE CHAMPION ANGLER - FEMALE - {MUST HAVE THE 4 CRITERIA}									
ANGLER	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS		TOTAL POINTS					
ANOLEN	CHITERIAL MENEVES	CAN FORE FORUTS	THE POINTS		1017AET OHTTS					
	G/	ME BOAT OVE	R 8.0 METRE							
		CHAMPION ANGL	ER - JUNIOR							
ANGLER	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS		TOTAL POINTS					
					l					
		ME BOAT OVE								
4440150	1	HAMPION ANGLER	1	<u> </u>						
ANGLER	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS		TOTAL POINTS					
	GAME BOAT OVER 8.0 METRE									
	HIGHEST POINT SCORING BOAT									
BOAT NAME	CRITERIA ACHIEVED	CRITERIA SPECIES	CAPTURE POINTS	TAG POINTS	TOTAL POINTS					
RAPTOR	3 OF 4	SHARK,RAY,FISH	3,544.99	263.33	3,808					

GAME BOAT OVER 8.0 METRE									
	HIGHEST POINT SCORING ANGLER - MALE								
ANGLER	BOAT NAME	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS	TOTAL POINTS				
MARK SNADDEN	RAPTOR	3 OF 4 -GF,SH,RAY	2,741.66	263.66	3,005				
JAKE HALL-MCLEOD	OFFSHORE OUTLAW	1 OF 4 - GF	529.17	0	<b>52</b> 9				
CODY SNADDEN	RAPTOR	1 OF 4 - RAY	300	0	300				
	0/	ME BOAT OVE							

GAME BOAT OVER 8.0 METRE								
HIGHEST POINT SCORING ANGLER - FEMALE								
ANGLER	BOAT NAME	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS	TOTAL POINTS			
JENNY SNADDEN	RAPTOR	2 OF 4 - GF,RAY	503.33	0	503			

	GAME BOAT OVER 8.0 METRE									
HIGHEST POINT SCORING ANGLER - JUNIOR										
ANGLER	BOAT NAME	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS	TOTAL POINTS					

GAME BOAT OVER 8.0 METRE								
HIGHEST POINT SCORING ANGLER - SMALL FRY								
ANGLER	BOAT NAME	CRITERIA ACHIEVED	CAPTURE POINTS	TAG POINTS	TOTAL POINTS			

GAME BOAT OVER 8.0 METRE								
HIGHEST TAG POINTS SCORING BOAT								
ANGLER	BOAT NAME	CRITERIA ACHIEVED	NUMBER OF TAGS	TAG POINTS	TOTAL POINTS			
MARK SNADDEN	RAPTOR	3 OF 4	1	266.33	266.33			

GAME BOAT OVER 8.0 METRE								
HIGHEST TAG POINTS SCORING ANGLER - MALE								
ANGLER	BOAT NAME	CRITERIA ACHIEVED	NUMBER OF TAGS	TAG POINTS	TOTAL POINTS			
MARK SNADDEN	RAPTOR	3 OF 4	1	266.33	266.33			

GAME BOAT OVER 8.0 METRE								
HIGHEST TAG POINTS SCORING ANGLER - FEMALE								
ANGLER	BOAT NAME	CRITERIA ACHIEVED	NUMBER OF TAGS	TAG POINTS	TOTAL POINTS			

		AME BOAT OVE		JNIOR	
ANGLER	BOAT NAME	CRITERIA ACHIEVED	NUMBER OF TAGS	TAG POINTS	TOTAL POINTS
ANGLEN	DOATNAME	CRITERIA ACITIEVED	NOMBER OF TAGS	746761113	TOTALTONITS
	G	AME BOAT OVE	R 8.0 METRE		
	HIGHEST T	AG POINTS SCORII	NG ANGLER - SM/	ALLFRY	
ANGLER	BOAT NAME	CRITERIA ACHIEVED	NUMBER OF TAGS	TAG POINTS	TOTAL POINTS
	G	AME BOAT OVE	R 8.0 METRE		
	MOST MERIT	ORIOUS SPECIES	THE BEST RATIO	)] - MALE	
ANGLER	BOAT NAME	SPECIES	WEIGHT - KG	LINE CLASS - KG	RATIO
MARK SNADDEN	RAPTOR	EAGLE RAY	76.2	6	12.7:1
MARK SNADDEN	RAPTOR	EAGLE RAY	31.6	6	5.26:1
CODY SNADDEN MARK SNADDEN	RAPTOR RAPTOR	EAGLE RAY EAGLE RAY	18 17	6 8	3.0:1 2.12:1
				_	
MARK SNADDEN	RAPTOR	GUMMY SHARK	24.9	4	6.22:1
AKE HALL-MCLEOD	OFFSHORE OUTLAW	SBT	127	24	5.29:1
MARK SNADDEN	RAPTOR	TREVALLY	1.1	1	1.1:1
,	G	AME BOAT OVE	R 8.0 METRE		
	MOS	T MERITORIOUS S	PECIES - FEMALE		
ANGLER	BOAT NAME	SPECIES	WEIGHT - KG	LINE CLASS - KG	RATIO
JENNY SNADDEN	RAPTOR	EAGLE RAY	17.6	6	2.93:1
JENNY SNADDEN	RAPTOR	TREVALLY	1.1	1	1.1:1
JENNY SNADDEN	RAPTOR	TREVALLY	1	1	1.0:1
	G	AME BOAT OVE	R 8.0 METRE		
	MC	OST MERITORIOUS S	PECIES - JUNIOR		
ANGLER	BOAT NAME	SPECIES	WEIGHT - KG	LINE CLASS - KG	RATIO
	G	AME BOAT OVE	R 8.0 METRE		
	MOS	T MERITORIOUS SPE	CIES - SMALL FRY		
ANGLER	BOAT NAME	SPECIES	WEIGHT - KG	LINE CLASS - KG	RATIO

GAME BOAT OVER 8.0 METRE								
HEAVIEST SPECIES - MALE								
ANGLER	BOAT NAME	SPECIES	WEIGHT - KG	LINE CLASS - KG	CAPTURE POINTS			
MARK SNADDEN	RAPTOR	EAGLE RAY	76.2	6	1,270			
MARK SNADDEN	RAPTOR	EAGLE RAY	31.6	6	526.66			
CODY SNADDEN	RAPTOR	EAGLE RAY	18	6	300			
MARK SNADDEN	RAPTOR	EAGLE RAY	17	8	212.5			
MARK SNADDEN	RAPTOR	GUMMY SHARK	24.9	4	622.5			
JAKE HALL-MCLEOD	OFFSHORE OUTLAW N/A	SBT	127	24	529.17			
MARK SNADDEN	RAPTOR	TREVALLY	1.1	1	110			

GAME BOAT OVER 8.0 METRE								
HEAVIEST SPECIES - FEMALE								
ANGLER	BOAT NAME	SPECIES	WEIGHT - KG	LINE CLASS - KG	CAPTURE POINTS			
JENNY SNADDEN	RAPTOR	EAGLE RAY	17.6	6	293.33			
JENNY SNADDEN	RAPTOR	TREVALLY	1.1	1	110			
JENNY SNADDEN	RAPTOR	TREVALLY	1	1	100			

	GAME BOAT OVER 8.0 METRE									
HEAVIEST SPECIES - JUNIOR										
ANGLER	ANGLER BOAT NAME SPECIES WEIGHT - KG LINE CLASS - KG CAPTUR									

GAME BOAT OVER 8.0 METRE					
HEAVIEST SPECIES - SMALL FRY					
ANGLER	BOAT NAME	SPECIES	WEIGHT - KG	LINE CLASS - KG	CAPTURE POINTS